

$$f(x) = \sqrt{\frac{x-1}{x} - \frac{x}{x-1}} \Rightarrow \frac{x-1}{x} - \frac{x}{x-1} \geq 0 \Rightarrow \frac{x^2 - x^2 + 1 - x^2}{x(x-1)} \geq 0 \Rightarrow \frac{1-x^2}{x(x-1)} \leq 0 \quad (2)$$

$$\frac{0}{-1} < \frac{1}{-1} < \frac{1}{0} \Rightarrow D_f = (-\infty, 0) \cup \left[\frac{1}{x}, 1\right) \quad \checkmark$$

$$f(x) = \frac{\frac{1}{x+1} - \frac{x}{2}}{\frac{x}{x-1} - \frac{1}{2x}} = \frac{\frac{2-x-2x^2}{2(x+1)}}{\frac{x^2+x-2}{(x-1)(2x)}} = \frac{2-x-2x^2}{2(x+1)} \cdot \frac{(x-1)(2x)}{x^2+x-2} \Rightarrow D_f = \mathbb{R} - \{-1, -2, 0, 1, -\frac{2}{x}\} \quad \checkmark$$

$$f(x) = \sqrt{\left(\left(\frac{1}{x}\right)^2 - 4\right)(x^2 - 5)} \rightarrow \left(\left(\frac{1}{x}\right)^2 - 4\right)(x^2 - 5) \geq 0 \quad (3)$$

$$\frac{-1}{x} < \frac{0}{-1} < \frac{1}{-1} \rightarrow D_f = (-\infty, -2] \cup \left[\frac{1}{x}, +\infty\right) \quad \checkmark$$

$$\sqrt{x-1} + \sqrt{x+1} = 2 \Rightarrow \sqrt{x+1} = 2 - \sqrt{x-1}$$

$$\Rightarrow (1) \quad x-1 \geq 0 \Rightarrow \boxed{x \geq 1}$$

$$(2) \quad 2 - \sqrt{x-1} \geq 0 \Rightarrow \sqrt{x-1} \leq 2 \Rightarrow x-1 \leq 4 \Rightarrow \boxed{x \leq 5} \Rightarrow D_f = [1, 5] \quad \checkmark$$

$$f(x) = \frac{\log(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1} \Rightarrow (1) \quad x^2 - x - 2 > 0 \Rightarrow (x-2)(x+1) > 0 \Rightarrow (-\infty, -1) \cup (2, +\infty)$$

$$(2) \quad x^2 - 1 > 0 \Rightarrow x^2 \geq 1 \Rightarrow (-\infty, -1] \cup [1, +\infty)$$

$$(3) \quad \sqrt{x^2 - 1} + 1 \neq 0 \Rightarrow \boxed{\sqrt{x^2 - 1} \neq -1} \quad \text{مستحيل}$$

$$\Rightarrow D_f = (-\infty, -1) \cup (2, +\infty) \quad \checkmark$$

$$-x^2 + a + 4x > 0 \Rightarrow x_1 = -2 \Rightarrow -5 - 2a + 4 > 0 \Rightarrow \boxed{a < -\frac{1}{2}} \quad (4)$$

$$-x^2 - \frac{1}{x} + a < 0 \Rightarrow \boxed{x < -\frac{x}{1}} \Rightarrow \boxed{a + b < 1} \quad \checkmark$$

$$g(x) = \sqrt{f(x) \cdot x} \Rightarrow f(x) - 2 \geq 0$$

$$f(x) = \begin{cases} x^2 - 2, & x \geq 1 \\ x^2 + 3, & x < 1 \end{cases} \Rightarrow f(x) - 2 = \begin{cases} x^2 - 2, & x \geq 1 \\ x^2 + 3, & x < 1 \end{cases} \Rightarrow \begin{cases} x^2 - 2 \geq 0 \Rightarrow x \geq \sqrt{2} \\ x^2 + 3 \geq 0 \Rightarrow x \geq -\sqrt{3} \end{cases} \Rightarrow D_f = [-\sqrt{3}, +\infty) \quad \checkmark$$

$$I \cup II \Rightarrow -\sqrt{3} \leq x \Rightarrow D_f = [-\sqrt{3}, +\infty) \quad \checkmark$$

$$\psi f(a) = f(-r) + a \Rightarrow \psi \circ (\psi a + \psi) = \psi a - \epsilon + a \Rightarrow 1\epsilon a + 1\epsilon = \epsilon a - \epsilon$$

2) $a_2 = 1,1$ ✓

$$f(z) = \sqrt{z} + \frac{1}{\sqrt{z}} \circledast \sqrt{z + \frac{1}{z} + z} = \cancel{2\sqrt{z}} + \cancel{z}$$

$$(x + \sqrt{x})(x - \sqrt{x}) = 1 \Rightarrow f(x + \sqrt{x}) + f(x - \sqrt{x}) = x f(x + \sqrt{x})$$

$$f(x+\sqrt{x}) = \sqrt{x+\sqrt{x} + \frac{1}{x+\sqrt{x}}} \cdot (x+\sqrt{x}) = x+\sqrt{x} \Rightarrow \sqrt{f(x+\sqrt{x})} = \sqrt{x+\sqrt{x}} \quad \checkmark$$

$$\left. \begin{aligned} f(x) - f(-x) &= x^2 - x \rightarrow 0^2 \\ f(x) - f(x) &= x^2 + x \rightarrow 0^2 \end{aligned} \right\} \Rightarrow \text{odd function}$$

$$\Rightarrow f(x) = -cx^4 - \frac{1}{a}x \quad \checkmark$$

$$(2+r)f(n) - rnf(n+r) = r2^n - rn + rn - 1$$

2) $x = -1 \Rightarrow f(0) = 1 + 1^m + 1^{m-1} = 2m + 1$

7) $n \geq 0 \Rightarrow pf(0) = n-1 \quad \& \quad qf(0) = n-2$

$$\Rightarrow \gamma f(0) = \mu, \Delta + 1 \Delta = \mu V, \Delta \Rightarrow f(0) = \gamma, \mu \Delta \quad \checkmark$$

$$2 = -1 \Rightarrow f(-1) = f(-1) = \frac{1 + 1 \cdot 1}{-1}$$

$\Rightarrow 1) f(-1) = -1$ $2) f(-1) = -9$ ✓